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for( i=0; i<objl.num; i++){
for( j=0; j<obj2.num; j++){
Tri-Tri_intersect_chk(obj1.T[i], obj2.T[j1);
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\ 4

distance from 73 to V;(1 =0,1,2)
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(20 000000

Intersect T and 77

T1’s normal vector
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distance from m to U;(i = 0,1, 2)

Dy; = (U; — V2)- N1
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goboooobobooobooooboobbOooboOoooobooooooobooooboooobooooboon
ooobooooboooooooboooobooooooooooooboooobooboooboboooDbobOoo
gobooooobooooboooobooooboboooobooobobooooooobobooboooooboooDboooo
goboobobooooooooboooboooboobobooooooobooobooobooooooooooobooon

12



T1_align(V0,V1,V2,U0,U1,U2,dU0,dU1,du2){
if (dvo > 0) {
if (dvi > 0) T2_align(V2,V0,V1,U00,U2,U1,dU0,du2,dU1)
else if (dv2 > 0) T2_align(V1,V2,V0,U0,U2,U1,dU0,dUu2,dU1)
else T2_align(V0,V1,V2,U0,U1,U2,dU0,dU1,dUu2)
} else if (dV0 < 0) {
if (dvl < 0) T2_align(V2,V0,V1,U0,U1,U2,dU00,dU1,dU2)
else
if (dv2 < 0) T2_align(V1,Vv2,V0,U0,U1,U2,dU0,dU1,dUu2)
else T2_align(V0,V1,V2,U00,U2,U1,dU0,dU2,dU1)
} else {
if (dvi < 0) {
if (dv2 >= 0) T2_align(V1,V2,V0,U0,U2,U1,dU0,dU2,dUl)
else T2_align(V0,V1,V2,U00,U1,U2,dU0,dU1,dUu2)
}
else if (dvi > 0) {
if (dv2 > 0) T2_align(VO,V1,V2,U00,U2,U1,dU0,dU2,dU1)
else T2_align(V1,V2,V0,U00,U1,U2,dU0,dU1,dU2)
}
else {
if (d4v2 > 0) T2_align(V2,V0,V1,U0,U1,U2,dU0,dU1,dU2)
else if (dv2 < 0) T2_align(V2,V0,V1,U0,U2,U1,dU0,dU2,dUl)
else return coplanar_tri_tri(VO0,V1,V2,U00,U1,U2,N1,N2);

028 0000 TIOOODOOOOO (CcOO)
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T2_align(VO0,V1,V2,00,U1,U2,d4U00,dU1,du2) {
if (auo > 0){
if (4Uu1 > 0) CHECK_MIN_MAX(VO,V2,V1,U2,U0,U1)
else
if (dU2 > 0) CHECK_MIN_MAX(V0,V2,V1,U1,U2,00)
else CHECK_MIN_MAX(VO,V1,V2,U0,U1,U2)
}
else
if (duo < 0){
if (dUl < 0) CHECK_MIN_MAX(V0,V1,V2,02,U0,U1)
else
if (dU2 < 0) CHECK_MIN_MAX(VO0,V1,V2,U1,U2,00)
else CHECK_MIN_MAX(V0,V2,V1,U0,U1,U2)

}
elseq{
if (dU1 < 0){
if (dU2 >= 0) CHECK_MIN_MAX(V0,V2,V1,U1,U02,U0)
else CHECK_MIN_MAX(VO,V1,V2,U00,U1,U2)
}
else
if (dut > 0) {
if (dU2 > 0) CHECK_MIN_MAX(V0,V2,V1,U00,U1,U2);
else CHECK_MIN_MAX(VO,V1,V2,U1,U2,U00);
}
elseq{
if (dU2 > 0) CHECK_MIN_MAX(V0,V1,V2,02,U0,U1)
else
if (dU2 < 0) CHECK_MIN_MAX(V0,V2,V1,02,U0,U1)
else return coplanar_tri_tri(V0,V1,V2,U00,U1,U2,N1,N2);
}
}

029 0000 T200000000 (CcOO)
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gbooooooooobooboooboobobobobobobobobobooobobooooooo
gbooooboooog
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30 Ubbbotbotgtbbtgtdod

3.1 0000

gobbooboobbooboobbooboooboobbooboooboobooboboobo
gbobgboboobobooooobooboboobooooboboboobobobobobobonoooo
goboobobooboobooooooooboobooobooboooooooobooooooooobooon
gboboobooooboobooooobooboboooboomoooobooobooobooooboooooon
goboooboobbooboobobooboobbooboooboooboobbooboobon
gbooobooobooboobobooboobooboobooboboo

gbobOoboboboboooooooooboooooobobOobobobobOobOobobono
gbbooooobooboooobooboboboobOoOoOobOobOOoOobOooooooobooooooboobobon
gbooobooobooboobobooboobooboon

1. 0000ogo
2.0000
3. 000000000

4. 000

3.2 OOOOOOO
0000000000000000000000000000
e J0DODODOOOO

e OO ODOOODOO

3.2.1 0OUOOOooOooOOO
gboooooboooogon

00o000o0oo0oooo0oO0oUo0o0oUD0o0oOoooDoO C/C++00 (DOOoCcoOo)oo
0000DO000D00D00O OpenGLOOODOOCODOODODODOODODODODODODODOO
000000000000 000O00o00o00U0oO0O000o0OO0O0OU0OO0O0U0 (DO0)ODooooooo
float,double,long double 00 D00 OO0UOO0O0OO0OO0OO0O0O0OOODOO double (IEEE754 000000
0)000000000000000000000000000000 [2,1400 doubleD O OODOODO
ocoooooooo
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gboogoobooon

gbobooobooooobooooboooboooboooboooboooobooooooooboooooonn
000000000 lwordODOOOOODOOOO0D OwordOOOOODOOOOOOOODOOOO
00000000000 18wordJOODOOOOOOO0O0O0O0O0O0O0ODODOODOOOOOODODDOD 1word
00o0U00o0o0o0o0oo0ooO00o0U0o0UoO00O000UO0ODO0O0OD0 (oooUooon)
goooooooon

3.2.2 OJUOO0OOooO0O
oo0ooooooooo

000000000000o00o00o0o0 HDL)ODOODOODO VHDLOOODOODOO0OO0O0O0O0O0OO
0000000000000 00000000000000000000OOO FPGA(field programmable
gate array) 1 0 0000000000000 O0OOOOOOOOOOOO

goooooboobooo

gbobooobooooobbooooboobboooboobooooobooooooobooOoooobooooDn
000 FPGAD ASICOO0O00D0O0OO0OO0OOOODODODODOODOOODOOOOOODOODOOODOOOOOO
gboboobooboboooooboooobobobobobobobobobobobooooooo
booooOoboooooboobooobobobooobooooooboOooobOobooboobooonoog

gbhooooooooooobobobobobobobooboboboooboboboboooon
gbooobooobooboobobooboobooboobooboboo

gbooooooooboboo

00000000000000000000000000000000000000000000000
0000000000000000000000000doubled000000 (GMPOOOOO [18]00
0)0000000000000000000000000000000000000000000000
00000000000000000000000 2%=00000 Vi bit000000000000
Ve bit00OOOODOOO0O Vi, 0000000000000 00000000000O000000
000000000000 0000000000000000000000000000000000 PLY
00 [19)0000000000000Ve,. =23bit000000000000000000000000
0DOooooooon

00000000000000000000000000000024bit0000000 Viise = 24bit O
0000000000000000000000000000000000 24bit00000000000
0000000000

gboooooooooooboobo

0000000000000000000000000 (BUSwaw,) 00 31000000
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BUSyiqen, = 000 «0000 % Viize (3.1)

gboobooboboobooboobooooooOobooooooooobooboboboboboobobono
0000000000000 0000000000O0O0 600000000000 (BUSwiawm) O 432bit
oooooo

gboooooboooobooboobooboooob 41100000 boobobooobooboOoDboon
oboooboobooboboobooooboooboooboooobooooooboooooooboon
gboboooooooboooobooboooobobobobobooboooboboboboboooobooo 3go
OO0000O0O0O00OOO0Og 26bit0000O0OOODOO

goooooboooo

gboobooooboboboboboooooooooboboboboobobobobooooooon
000000000000 00000C0O0 210000000000 PC(Pentium3 1GHz)OOOOOOO
UbO0o00 192nsecd 0 343nsec0 0000000 0ODOOO0ODOOCOOOOOOOOOODOOOODOOO
ocOoooooOooooOoOoooDoOrFPGAODOOOOODDOOOODODODOODOOODOODOODOOO
gobooooboooobog oMHzOOOODOOOoOOOoOOooOooooooobooooooooo
ooboobooobooboon 1nsec0 00000000 DOOO0OO0OOOOO0ODOOODOOODOOODOO

o0o0oooooooO0O0000oooobo0O00322000000000 216bt000D0O0OO0ODOOO
OO0O00O0OoooobjloobODOoooooooono vOO NOOOOOObj1OOOOOOOODb)j2
gobooooobooobobooooobooboobooboboobboooOoooboooO Ny OO 320000

CLKnum = N1+ N« N, +00000000 (3.2)

000000000 0000000000000000 Teendpoy 100000 32000000000
gboooboo 33000d

Nk

Tsend_poly = ooooo (3.3)

3.3 oo

gbooooboobooooobooooobooboooooban

e JOODOOO 320

OO0O00DO0OO00DO0OoOOoon : 216bit

OooooD : 100MHz

e J00IDOIOODDDOUDOODDO :0UD0ODOOOO /sec

OO000D0D00O0 : DevillersODODOOODOO
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34 O0OOOOOOOO

03.1000000000000000000O0000000O0OUODO0OUO0O0OUDDOOO (DOOo
gboboooOobooo-0obOoboobooTioooooboooT2000000000000000O00¢0
0)00000000000000000000U0O000O0UOO0D 3003000000 (Voin, V1n,
V2,n)0 0000000000000 00O0O0O0O0O0O0OOOOO0OOO

3.4.1 UU0gdOobobObOOoOodobbObOooobboo

000000 Devilers 10 0000000000000000000000000 240000000
0000000000000 (03.1)0000000000000000000000000 (1)72000
00000007, 00000000@) 000000000040~ 00000000000
000000000000000000000 (1)0(2)0 (3)0(4)00000000000000000
0000000000 (res1(0),res2(0)) 000000000

3.4.2 OJUOOOOOO
gbooobooobooood

100000000000000000NOO0O00O00D0000010000000000000 ((Ve, Vi, V2))0
0000000000000000000 NODOOOOODOOOOO 3200000000 24bit0 24bit
0000000000000 2000000002bit0000000000000000000000
000 25bit00000000000000000 (03.10)00006000000000000000
25bit 00000000 NODOOOOO

gboooboooboobgoobooboo

0000D000000000000000000000000000000000 432bit000000
00000000000000000000000000000000000000 41100000000
0000 (000001)00000000000000000000(00000j)00000000j0
obj2nmum0000000000000000000000000000000000 objl.T[{O00000
000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
000

00000000000000000000000000310000000000000000000
000000000000000000000 InV,,InV;,InV, 000000000000000000
00000000411000000000000000000000000000 (base polygon) 00
0000000000000000000000000000BSETO00’1’0000000000000
00000000 NDODDOO (Vo,Wh,V)000000000000000 (Ve(0), Vi(0), Va(0), No)
0000000000000000000000000000BSETOO0'0 000000000000
0000000000000000000000000000000000 (Uy(0), Uy(0), Uz(0), NyN) O
000000000000000000000000BSETOO00°1’0000000000000000
000000000000000000000

19



BSET [0,1] Vo Vi v2

24+*3 24+*3 24*3
1 1
L DB --rerersrnren s y
BSET(0) v0(0)  vi(0)  v2(0)
goooooooooooao 3.2
BSET(5) VvO(5) vi1(5) v2(5) N(5)
1 24°3 24+3 |24+3 |51"3
7 7 [
[
A
A
-|U0(0)||U1(0)”u2(0)|--|N1(0)| ------- {v0(0)||v1(0)Hv2(0)|-|N0(0)|----
A
A
Uo(1) U1(1) U2(1) N1(1) VO(1) Vi(1) V2(1) NO(1)
gooooooo goooooon
ooooooooo d3s ooooooooo O35
res1(0) UO(9) U1(9) U2(9) du(0) res2(0) VO(9) V1(9) V2(9) dv(0)
1 24*3 | 24*3 |24*3]78*3 1 24*3 |24*3 | 24*3|78*3)
—+ —+ —+ —+ —+ —+ —+ —+ —+ —+ A

resi(l) UO(10) U1(10) U2(10) du(l)  res2(1) VO(10) V1(10) V2(10) dv(1)
0000TIDO00O0O00000 036

res1(2) UO(11) U1(11) U2(11) du(2)  res2(2) VO(11) Vi(11) V2(11)

1 24*3 | 24*3 | 24*3|78*3 1 24*3 | 24*3 | 24*3 \
—4 —4 1 —4 —4 —4 —4 —4 ‘

—

res1(3) UO(12) UL(12) U2(12)du(3) resl(3) VO(12) VI(12) V2(12)
0O00O0T2000000000 O 3.7

resi(4) UO(13) U1(13) U2(13) res2(4) VO(13) V1(13) V2(13)

1 24*3 |124*3 | 24*3 1 24*3 | 24*3 | 24*3

resi(5) UO(14) U1(14) U2(14) res2(5) VO(14) Vi(14) V2(14)
00000000000000 O 3.8

Final res

g \

oooooooooodgo
7stage

\ Jgooooaooo

1stage

oooooooo
ooooooooo
Ostage

ogoooTioooob ooog
2stage

000071200000 OO0OO
2stage

o0o0bOOoooooooooo
15stage

gooooo

031 000000b00000b000n
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Wi Vo Vo Vo
A B A B

A
sub vect unit sub vect unit
lstage| |O 311 C o311 C
P _25*3 P _25*3
. A - -
A
El .
6stage cross product unit
0 3.10 F
51*3
//
S
N(0)

032 000000000000

InvVO InV1 InvV2

72 72 472
216
BSET [0,1]
000000000000
1
- VO V1 V2 N
i BE
—>0—uo(|u1(0)|u2(0)| |NL 451
vO(0) [V1(0)|v2(0)| | NO

033 0000000000ad
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process (CLK)
begin
if (CLK’event and CLK=’1’) then
if ( BSET="1’) then -- BASE polygon OO 0O0OOOOODODO
V0 (0) <= IN2_VO;
N1 <= N;
else -- 000000 polygon OO OOOOODOOO
U0(0) <= IN2_VO;
N2 <= N;

end if;

0 3400000000000 (VHDL)

gboocoooboooooooboooon

00000000000000000000000000000000 (support plane) 1000000
00000000000000020000000000000 (Vo,Va,Va)(Uo,Uy,Uz)00000000
0000000000000000000000000000000 (DV0,DV1,DV2)(DU0,DUL, DU?2)
00000000000000000 (RESORES1)00000000000 3500000000000
24bit 0000000000000 00000002%bt0000000000000000000000
003000000000000000000000NOOOOOOOOOOO0OO0OO0O0O0O (O 3.9)
00070000000000000030078bit0000000000000000O00O00O0O000
03000000000000000000000000000000000 bit(77bit0)0000000
0000000000000 00000000000000000 1000000000000000

obooo TiO000000000

0000000000000000000 TI0000000000000002000000000
0000 (Vo, Vi, Va)(Uo, Uy, Ux)00000000000000000000000000000000
(DV0,DV1,DV2)(DU0,DU1,DU2)0 00000000 7300000 (Vo,V4,Ve)00T, 00000
(Uo,Uy,U,) 0 (DUO,DU1,DU2) 00000000000 3.600000000 (DV0,DV1,DV2)0
000 00000000000000 bool0OODOO (DVO,DV1,DV2)000000000 (23bit0)
00O0SIGNOODOOO00O0000D0D0000SIGNOOOOOODDOO0O0000000000000
000000000000000

o000 T2000000000

000000000000000 T200000000000000020000000000000
(Vo, V4, Va)(Uo, Uy, Uz)00 00 0000000000000000000000000000 (DUO, DU, DU2)0
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N Vo U, Vi U, Vs U,
— 24*3 | 24*3 24*3 | 24*3 24*3 | 24*3
51*3
//
A B A B A B
1stage sub vect unit sub vect unit sub vect unit
0 3.11c 0 3.11c 0 3.11c
. PR -
51*3 |25*3 51*3 |25*3 51*3 |25*3
7stage 1T 1T 1 1T
G H G H G H
dot product unit dot product unit dot product unit
039 xn 139 J 139 J3
_}__ ________________________
78 78 78
//
compare compare
JL(77) 1= 32(77 JA(77) 1= 33(77
stage (77) 1= 32(77) (77) 1= 33(77)
1 1
A A
O
res

g 35 000boobooboooobooo
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